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1.  (A) Explain the concepts of average and marginal cost and examine the relationship
between average and marginal cost. 14
OR

(B)
2. (A)
MU-122

Explain the concepts of average, marginal and total revenue. Discuss average and

marginal in perfect competition.

Choose the correct option : 4
(1)  Under perfect competition .
(a) MR=AR (b) MR <AR (¢c) MR >AR

(2) Average cost curve is .
(a) Vertical (b) Horizontal (c) U shaped

(3) The cost remains same in short-run, then it is called
(a) Variable cost  (b) Fixed Cost (c) Average Fixed Cost
(4) The distinction between the fixed cost and variable cost is possible only in
the
(a)  Short run (b) Longrun

Give the meaning of perfect competition and analyse the short term equilibrium

of the firm under perfect competition. 14
OR
State and show with diagrams the long-run equilibrium of the firm and industry

under perfect competition.

3 P.T.O.



(B)

3. (A)

(B)

4. (A)

(B)

MU-122

Choose the correct option :
(1) Demand curve in perfect competition is
(a) elastic (b) inelastic (c) perfectly elastic

(2) When is Normal Profit made in the perfect competition ?
(a) AR=AC (b) AR=MR (c) MR=MC

(3) The condition for a firm’s equilibrium
(@ MR=MC
(b) MR =MC and MC curve cuts the MR curve from below.
(¢) MR =MC and MC curve cuts the MR curve from above.

(4) The demand curve under perfect competition market
(a) Parallel to scale (b) Vertical to scale (¢) Negative slope

Explain the equilibrium of a firm in monopoly market.
OR
Analyse short-run equilibrium of the firm under monopolistic competition.
Choose the correct option :
(1) The demand curve of monopoly market is
(a) Positive sloped (b) Negative sloped (c) Parallel of Y-axid.

(2) Who developed the concept of Monopolistic competition ?
(a) Marshall (b) Chamberlin (c) John Robinson

(3) In which market selling cost is important ?
(a)  Monopolistic Competition
(b) Monopoly
(c) Perfect Competition

Critically analyse Ricardian Theory of Rent.
OR
Explain the marginal productivity theory of distribution.
Choose the correct option :
(1)  When the marginal productivity of labour increases the wage rate is
(a) increases (b) stagnates (c) decreases

(2) The concept of quasi rent is given by .
(a) Ricardo (b) Marshall (c) Keynes

(3) Ricardo has excluded in his rent theory.
(a) scarcity rent (b) fertility rent (c) contractual rent
4
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1. (A) Examine the Marginal Productivity theory of distribution. 14
OR

Critically analyse Richardian theory of Rent.

(B) Choose the correct options : 4
(1) The wage rate is equal to the value of  of labour.
(a) Marginal production
(b)  Average production
(c) Total production

(2) Euler’s theorem was given by .
(a) Marshall (b) Wicksteed (c) Night

3) has included scarcity rent in his rent theory.
(a) Marshall (b) Ricardo (c) Keynes
(4) Marginal factor cost is the cost of using an unit of a factor of
production.
(a) total (b) additional (c) average
2. (A) Explain the liquidity preference theory of interest. 14
OR

Explain the uncertainty and risk theory of profit.

(B) Choose the correct option : 4
(1) ‘Profit is a rewards of Innovation’. This principle was given by
(a) Knight (b)  Schumpeter (c) Marshall
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The theory of interest is the saving and investment theory of

interest.

(a) Keynes (b) Loanable fund (c) Classical Economist
To obtain net profit one needs to deduce cost from gross profit.
(a) marginal (b) total (¢) depreciation

People saved at higher rate of interest.

(a) more (b) less (c) equal

Discuss the Pareto’s optimum conditions with diagrams.

OR

Explain Bergson’s social welfare function.

Choose the correct option :

(1)

)

3)

Origin of the welfare Economics in .
(a) America (b) England (c) Germany

Pigou’s concept of welfare is dependent on
(a) money (b) consumption (c) production

The term value judgement in social welfare economics refers to
(a) Ethnical (b) Ethical (c) Natural

Explain the concepts of ‘Contract’ and ‘Moral’ Hazard.

OR

Explain the importance of information economics. Discuss the various difficulties
of asymmetry information.

Choose the correct option :

(1)

)

€)

Asymmetric information leads to
(a) moral behaviour

(b) moral knowledge

(c) moral hazards

A in game theory refers to a decision maker.
(a) strategy (b) payoff (c) player
Special process factor of of the firm firm can be explained with the
help of Game theory
(a) Owner (b) Consumer (c) Managerial
8
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